

Eisenhammer Radick & Kahn — 3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> April 30, 2021 Invoice #: 51784

REMITTANCE COPY

| RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|---|--|
| TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| LITIGATION | |
| TOTAL SERVICES FOR THIS MATTER | \$1,250.00 |
| BOARD GOVERNANCE | |
| TOTAL SERVICES FOR THIS MATTER | \$1,922.00 |
| BOARD POLICIES | |
| TOTAL SERVICES FOR THIS MATTER | \$0.00 |
| FOIA-OMA | |
| TOTAL SERVICES FOR THIS MATTER | \$4,895.00 |
| STUDENTS | |
| TOTAL SERVICES FOR THIS MATTER | \$445.00 |
| 2021 STUDENT HANDBOOK REVIEW | |
| TOTAL SERVICES FOR THIS MATTER | \$4,159.00 |
| | Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. TOTAL SERVICES FOR THIS MATTER LITIGATION TOTAL SERVICES FOR THIS MATTER BOARD GOVERNANCE TOTAL SERVICES FOR THIS MATTER BOARD POLICIES TOTAL SERVICES FOR THIS MATTER FOIA-OMA TOTAL SERVICES FOR THIS MATTER STUDENTS TOTAL SERVICES FOR THIS MATTER 2021 STUDENT HANDBOOK REVIEW |

Hinsdale 86

page 2

| RE: | COMPLAINT | | |
|------|------------------------------------|-----------|--------------|
| | TOTAL SERVICES FOR THIS MATTER | | \$1,551.00 |
| RE: | SPECIAL EDUCATION | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$713.00 |
| RE: | DISPUTE | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$422.00 |
| RE: | 2021 HTHSSSA NEGOTIATIONS | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$2,325.00 |
| RE: | PERSONNEL | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$5,722.00 |
| RE: | | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$124.00 |
| RE: | CONTRACTS | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$2,590.00 |
| BILL | ING SUMMARY | | |
| | FOR PROFESSIONAL SERVICES RENDERED | 92.70 hrs | \$26,368.00 |
| | ADMINISTRATIVE EXPENSES | | \$1,582.08 |
| | TOTAL AMOUNT OF THIS BILL | | \$27,950.08 |
| | PREVIOUS BALANCE | | \$117,448.00 |
| | BALANCE DUE | | \$145,398.08 |

04/15/2021 KPM Draft and send email correspondence to Prentiss re: 0.20 hrs 250 /hr \$50.00



Hinsdale 86 page 3

04/30/2021 AJL Phone conference with Superintendent 0.30 hrs 310 /hr \$93.00

04/08/2021 SMR Research, consult with Attorneys Levi and Brickman, 2.40 hrs 310 /hr \$744.00 and draft and send email to Superintendent JTM ; correspond 0.20 hrs \$62.00 04/20/2021 Review 310 /hr with Superintendent 04/21/2021 JTM Phone conference with Superintendent 0.30 hrs \$93.00 310 /hr ; review re: same SMR 04/26/2021 Analyze inquiries from Superintendent and draft and 0.40 hrs 310 /hr \$124.00 send email to Superintendent review and reply re: same 04/26/2021 SMR Consult with Attorney Levi and email Superintendent 0.20 hrs 310 /hr \$62.00

FOIA-OMA

| 04/06/2021 | KPM | Finalize and send | to Prentiss | 0.30 hrs | 250 /hr | \$75.00 |
|------------|-----|--------------------------------------|-------------|----------|---------|----------|
| 04/07/2021 | SMR | Phone conference with Superintendent | | 1.00 hrs | 310 /hr | \$310.00 |

04/14/2021 SMR Review 1.30 hrs 310 /hr \$403.00 phone conferences with Superintendent re:

| 04/28/2021 | SMR | Research, and draft, revise, finalize and send correspondence to Superintendent | 1.10 hrs | 310 /hr | \$341.00 |
|------------|-----|---|----------|---------|----------|
| 04/28/2021 | SMR | Phone conference with Superintendent | 0.50 hrs | 310 /hr | \$155.00 |

Hinsdale 86 page 9

| 04/05/2021 | KA | Review correspond with Prentiss re: same | and | 0.20 hrs | 270 /hr | \$54.00 |
|------------|-----|--|--------|----------|---------|---------|
| | | | E D | | | |
| 04/12/2021 | МАТ | Phone conference with Superintendent | | 0.30 hrs | 310 /hr | \$93.00 |
| 04/12/2021 | KA | Phone conference with Prentiss | | 0.10 hrs | 270 /hr | \$27.00 |

Eisenhammer Roclick & Kohn 3030 SALT CREEK LANE SUITE 202

ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066

www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> May 31, 2021 Invoice #: 52064

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|------|---|------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | LITIGATION | |
| | TOTAL SERVICES FOR THIS MATTER | \$830.00 |
| RE: | BOARD GOVERNANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$6,040.00 |
| | TOTAL EXPENSES FOR THIS MATTER | |
| | FOTAL LATENGES FOR THIS MATTER | \$33.80 |
| RE: | BOARD POLICIES | |
| | TOTAL SERVICES FOR THIS MATTER | \$3,110.00 |
| D.F. | | |
| RE: | FOIA-OMA | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,994.00 |
| RE: | 2021 STUDENT HANDBOOK REVIEW | |
| | TOTAL SERVICES FOR THIS MATTER | \$391.00 |
| | | |
| RE: | COMPLAINT | |



| | dale 86 | | page 2 |
|------|------------------------------------|-----------|--------------|
| | TOTAL SERVICES FOR THIS MATTER | | \$1,125.00 |
| | | | |
| RE: | DISPUTE | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$135.00 |
| | | | |
| RE: | | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$0.00 |
| | | | |
| RE: | 2021 HTHSSSA NEGOTIATIONS | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$248.00 |
| | | | |
| RE: | PERSONNEL | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$2,584.00 |
| | | | |
| RE: | CONTRACTS | | |
| | TOTAL SERVICES FOR THIS MATTER | | \$959.00 |
| DILI | INC CHMMADY | | |
| BILL | ING SUMMARY | | |
| | FOR PROFESSIONAL SERVICES RENDERED | 75.00 hrs | \$17,666.00 |
| | TOTAL COSTS | | \$33.80 |
| | ADMINISTRATIVE EXPENSES | | \$1,059.96 |
| | TOTAL AMOUNT OF THIS BILL | | \$18,759.76 |
| | PREVIOUS BALANCE | | \$145,398.08 |
| | TOTAL PAYMENTS BALANCE DUE | | \$117,448.00 |
| | DALANCE DUE | | \$46,709.84 |



Hinsdale 86

page 3

05/20/2021 AJL Correspond with Superintendent 0.30 hrs 310 /hr \$93.00

05/07/2021 SMR Draft, revise, finalize and send 1.80 hrs 310 /hr \$558.00 correspondence to Superintendent

page 4

05/26/2021 JTM

Hinsdale 86

Draft email to Superintendent

0.30 hrs

310 /hr

\$93.00

Superintendent re: same; draft

phone call with



HODGES LOIZZI
Eisenhammer Rodick & Kolm
Hinsdale 86

05/31/2021 HKB Research and draft forward to Superintendent I.90 hrs 310 /hr \$589.00

FOIA-OMA

Hinsdale 86 page 6

| 05/06/2021 | SMR | Phone conference with I Superintendent | 0.60 hrs | 310 /hr | \$186.00 |
|------------|-----|---|----------|---------|----------|
| 05/19/2021 | SMR | Phone conferences with . Superintendent | 0.70 hrs | 310 /hr | \$217.00 |

| 05/17/2021 | AJL | Review correspondence from Board President re: same | 0.20 hrs | 310 /hr | \$62.00 |
|------------|-----|---|----------|---------|---------|
| | | | | | |
| 05/18/2021 | AJL | Phone conference with Board President | 0.30 hrs | 310 /hr | \$93.00 |
| 05/20/2021 | AJL | Review confer re: same; correspond with Superintendent re: same | 0.30 hrs | 310 /hr | \$93.00 |

| 05/24/2021 | AJL | Phone conference with Board President correspond with Board president re: same | 0.40 hrs | 310 /hr | \$124.00 |
|------------|-----|--|----------|---------|----------|
| 05/25/2021 | AJL | Review correspond with Board President re: same | 0.20 hrs | 310 /hr | \$62.00 |

| 05/26/2021 | SMR | Phone conference with President | 0.30 hrs | 310 /hr | \$93.00 |
|------------|-----|---|----------|---------|----------|
| 05/27/2021 | SMR | Revise, finalize and send correspondence to President | 0.40 hrs | 310 /hr | \$124.00 |
| 05/30/2021 | PES | Review draft correspondence to Prentiss re: same | 0.20 hrs | 310 /hr | \$62.00 |

Hinsdale 86

page 10

| 05/17/2021 | JSL | Review email from Superintendent review prepare and forward email to Superintendent | 0.30 hrs | 310 /hr | \$93.00 |
|------------|-----|---|----------|---------|----------|
| 05/18/2021 | JSL | Consult phone conference with Superintendent | 0.60 hrs | 310 /hr | \$186.00 |

Eisenhammer Rodick & Kohn -

3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> June 30, 2021 Invoice #: 52308

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|-----|---|------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | BOARD GOVERNANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,457.00 |
| RE: | FOIA-OMA | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,766.50 |
| RE: | COMPLAINT | |
| | TOTAL SERVICES FOR THIS MATTER | \$182.00 |
| RE: | PERSONNEL | |
| | TOTAL SERVICES FOR THIS MATTER | \$2,010.00 |
| RE: | CONTRACTS | |
| | TOTAL SERVICES FOR THIS MATTER | \$5,938.00 |

Eisenhammer Rodick & Kohn

Hinsdale 86

page 2

BILLING SUMMARY

| FOR PROFESSIONAL SERVICES RENDERED | 46.60 hrs | \$11,603.50 |
|------------------------------------|-----------|-------------|
| ADMINISTRATIVE EXPENSES | | \$696.21 |
| TOTAL AMOUNT OF THIS BILL | | \$12,299.71 |
| PREVIOUS BALANCE | | \$46,709.84 |
| TOTAL PAYMENTS | | \$27,950.08 |
| BALANCE DUE | | \$31,059.47 |

Eisenhammer Rodick & Kohn

3030 SALT CREEK LANE SUITE 202

ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> June 30, 2021 Invoice # 52308

06/23/2021 AJL

Phone conference with Superintendent I review

0.20 hrs

correspond

310 /hr

\$0.00

Hinsdale 86

| 06/02/2021 | SMR | Phone conference with Superintendent, | 0.60 hrs | 310 /hr | \$186.00 |
|------------|-----|---|----------|---------|----------|
| 06/04/2021 | SMR | Review draft and send correspondence to Superintendent and Board President | 0.60 hrs | 310 /hr | \$186.00 |
| 06/07/2021 | SMR | Review consult with Attorney T. Loizzi and reply to President 1 | 0.40 hrs | 310 /hr | \$124.00 |
| 06/09/2021 | AJL | Prepare for and participate in phone conference with Attorney Richart and Board president re: | 0.40 hrs | 310 /hr | \$124.00 |
| 06/09/2021 | SMR | Zoom conference with Attorney T. Loizzi and President | 0.40 hrs | 310 /hr | \$0.00 |

Hinsdale 86

page 3

FOIA-OMA

06/10/2021 SMR

Phone conferences with Superintendent review

0.90 hrs 310 /hr

\$279.00

HODGES LOIZZI Eisenhammer Rodick & Kohn

Hinsdale 86

page 4

| 06/08/2021 | AJL | Correspond with Board | l president | | 0.30 hrs | 310 /hr | \$93.00 |
|------------|-----|-----------------------|-------------|--|----------|---------|---------|
|------------|-----|-----------------------|-------------|--|----------|---------|---------|

| 06/17/2021 | AJL | Correspond with Superintendent | 0.20 hrs | 310 /hr | \$62.00 |
|------------|-----|---------------------------------|----------|---------|----------|
| 06/29/2021 | AJL | Correspond with Board president | 0.40 hrs | 310 /hr | \$124.00 |

06/02/2021 JSL

Review and revise

0.90 hrs

310 /hr

\$279.00

Eisenhammer Rodick & Kohn

3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005 Tammy V Social K

Soch V Keith Cheryl Deb V

> TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School

District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> July 31, 2021 Invoice #: 52560

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|-----|---|------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | BOARD GOVERNANCE TOTAL SERVICES FOR THIS MATTER | \$1,426.00 |
| RE: | AUDIT LETTERS TOTAL SERVICES FOR THIS MATTER | \$31.00 |
| RE: | BOARD POLICIES TOTAL SERVICES FOR THIS MATTER | \$1,724.00 |
| RE: | FOIA-OMA TOTAL SERVICES FOR THIS MATTER | \$4,468.50 |
| RE: | TOTAL SERVICES FOR THIS MATTER | \$589.00 |
| RE: | 2021 HTHSSSA NEGOTIATIONS | |
| | TOTAL SERVICES FOR THIS MATTER | \$2,883.00 |

Eisenhammer Rodick & Kohn

Hinsdale 86

page 2

| PERSONNEL | | |
|------------------------------------|--|---|
| TOTAL SERVICES FOR THIS MATTER | | \$1,612.00 |
| | | |
| CONTRACTS | | |
| TOTAL SERVICES FOR THIS MATTER | | \$7,614.00 |
| ING SUMMARY | | |
| FOR PROFESSIONAL SERVICES RENDERED | 76.60 hrs | \$20,597.50 |
| , ADMINISTRATIVE EXPENSES | | \$1,235.85 |
| TOTAL AMOUNT OF THIS BILL | _ | \$21,833.35 |
| PREVIOUS BALANCE | | \$31,059.47 |
| TOTAL PAYMENTS | ^ | \$18,759.76 |
| BALANCE DUE | $\Delta U =$ | \$34,133.06 |
| | σ_{1} | |
| | 10/18/3 | }- |
| | TOTAL SERVICES FOR THIS MATTER CONTRACTS TOTAL SERVICES FOR THIS MATTER LING SUMMARY FOR PROFESSIONAL SERVICES RENDERED ADMINISTRATIVE EXPENSES TOTAL AMOUNT OF THIS BILL PREVIOUS BALANCE TOTAL PAYMENTS | TOTAL SERVICES FOR THIS MATTER CONTRACTS TOTAL SERVICES FOR THIS MATTER LING SUMMARY FOR PROFESSIONAL SERVICES RENDERED ADMINISTRATIVE EXPENSES TOTAL AMOUNT OF THIS BILL PREVIOUS BALANCE TOTAL PAYMENTS |

Eisenhammer Rodick & Kohn

Hinsdale 86

page 2

07/15/2021 AJL Revise correspond with 0.20 hrs 310 /hr \$62.00

Superintendent re: same



 Hinsdale 86
 page 3

 07/16/2021 AJL Review
 correspond with 0.20 hrs 310 /hr \$62.00

Superintendent re: same

07/30/2021 KBP Phone conference with Superintendent 0.60 hrs 310 /hr \$186.00

Eisenhammer Rodick & Kohn **Hinsdale 86**

FOIA-OMA

| 07/09/2021 | SMR | Review Superintendent v consult with re: same | 0.50 hrs | 310 /hr | \$155.00 |
|------------|-----|--|----------|---------|----------|
| 07/12/2021 | SMR | phone conferences with Board President, Superintendent steps; draft, revise, consult | 2.50 hrs | 310 /hr | \$775.00 |
| 07/13/2021 | SMR | President and Superintendent Zoom conference with President, Superintendent Admin Chief of Staff re: draft and send | 1.10 hrs | 310 /hr | \$341.00 |
| 07/15/2021 | SMR | Phone conference with Board President update and review and reply to email from Board President | 0.90 hrs | 310 /hr | \$279.00 |

de

Eisenhammer Rodick & Kohn -

Hinsdale 86

page 5

07/30/2021 SMR and draft \$186.00 Consult 0.60 hrs 310 /hr response

> review correspondence to and from Board President and Attorney T. Loizzi re; same

HODGES LOIZZI Eisenhammer Rodick & Kohn

Hinsdale 86

| 07/12/2021 | AJL | Phone conference with Board president re: | 0.30 hrs | 310 /hr | \$93.00 |
|------------|-----|--|----------|---------|----------|
| 07/14/2021 | AJL | Phone conference with Superintendent in the same re: same | 1.00 hrs | 310 /hr | \$310.00 |
| 07/20/2021 | AJL | Review correspondence from Board president re: correspond with Board president re: same confer versions are: e: same | 0.50 hrs | 310 /hr | \$155.00 |
| 07/21/2021 | AJL | Prepare for and attend zoom meeting with Attorney Richart and Board president | 1.30 hrs | 310 /hr | \$403.00 |

Eisenhammer Rodick & Kohn -

¶.

RE:

3030 SALT CREEK LANE SUITE 202 ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334 FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> August 31, 2021 Invoice #: 52781

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|-----|---|------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | LITIGATION | |
| | TOTAL SERVICES FOR THIS MATTER | \$651.00 |
| RE: | BOARD GOVERNANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,099.00 |
| RE: | FOIA-OMA | |
| | TOTAL SERVICES FOR THIS MATTER | \$3,469.00 |
| RE: | FINANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$93.00 |
| RE: | STUDENTS | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,415.00 |
| RE: | RESIDENCY | |
| | TOTAL SERVICES FOR THIS MATTER | \$1,980.00 |
| | | |

BALANCE DUE

Eisenhammer Rodick & Kohn Hinsdale 86 page 2 TOTAL SERVICES FOR THIS MATTER \$155.00 RE: 2021 HTHSSSA NEGOTIATIONS TOTAL SERVICES FOR THIS MATTER \$93.00 RE: PERSONNEL TOTAL SERVICES FOR THIS MATTER \$4,322.00 RE: REAL ESTATE TOTAL SERVICES FOR THIS MATTER \$62.00 **RE:** CONTRACTS TOTAL SERVICES FOR THIS MATTER \$17,796.00 **BILLING SUMMARY** FOR PROFESSIONAL SERVICES RENDERED 109.90 hrs \$31,385.00 ADMINISTRATIVE EXPENSES \$1,883.10 TOTAL AMOUNT OF THIS BILL \$33,268.10 PREVIOUS BALANCE

\$34,133.06

\$67,401.16

Hinsdale 86

page 2

| 08/27/2021 | JTM | Email Superintendent | 0.20 hrs | 310 /hr | \$62.00 |
|------------|-----|----------------------------------|----------|---------|---------|
| 08/30/2021 | JTM | Review email from Superintendent | 0.10 hrs | 310 /hr | \$31.00 |



Hinsdale 86 page 3

| 08/02/2021 | AJL | Phone conference with Board president | 0.20 hrs | 310 /hr | \$62.00 |
|------------|-----|--|----------|---------|----------|
| 08/02/2021 | AJL | Phone conference with Superintendent | 0.30 hrs | 310 /hr | \$93.00 |
| 08/04/2021 | AJL | Phone conference with Superintendent confer with colleagues re: same correspond with Superintendent re: same | 0.70 hrs | 310 /hr | \$217.00 |
| 08/04/2021 | AJL | Correspond with Board President | 0.30 hrs | 310 /hr | \$93.00 |
| 08/08/2021 | AJL | Correspond with Superintendent | 0.20 hrs | 310 /hr | \$62.00 |
| 08/19/2021 | AJL | Review email from Superintendent correspond with Superintendent re: same | 0.20 hrs | 310 /hr | \$62.00 |
| 08/20/2021 | AJL | Correspond with Board president | 0.60 hrs | 310 /hr | \$186.00 |
| 08/20/2021 | AJL | Phone conference with Board President | 0.20 hrs | 310 /hr | \$62.00 |
| 08/27/2021 | AJL | Phone conference with Superintendent | 0.20 hrs | 310 /hr | \$62.00 |

FOIA-OMA



Hinsdale 86

page 4

08/16/2021 SMR Draft and send to Superintendent 0.20 hrs 310 /hr \$62.00 and Board President

08/20/2021 AJL Phone conference with Superintendent 0.90 hrs 310 /hr \$279.00 confer with Attorney Richart re:

correspond with Superintendent i

08/31/2021 SMR Phone conference with Superintendent 0.90 hrs 310 /hr \$279.00

HODGES OZZI Eisenhammer Rodick & Kohn Hinsdale 86

| 08/09/2021 | KA | Correspond with Superintendent | 0.10 hrs | 270 /hr | \$27.00 |
|------------|-----|---|----------|---------|----------|
| | | | | | |
| 08/11/2021 | MAT | Phone conference with Superintendent re: same | 0.50 hrs | 310 /hr | \$155.00 |
| 08/11/2021 | KA | Phone conference with Superintendent | 0.50 hrs | 270 /hr | \$135.00 |



page 7

| 08/10/2021 | AJL | Correspond with Board President orrespond with Board President | 0.40 hrs | 310 /hr | \$124.00 |
|------------|-----|--|----------|---------|----------|
| 08/12/2021 | AJL | Review email from Walker phone conference with Board President re: same; confer with Attorney Richart re: same | 0.80 hrs | 310 /hr | \$248.00 |

08/19/2021 AJL

Review/revise

1.20 hrs 310 /hr

\$372.00

review re: same; correspond with Board President re: same; phone e: same;

conference with Board President re: same

President re: same

| Hinsdale 86 | | ik & Konn | | | page 8 |
|-------------|-----|---|----------|---------|----------|
| 08/23/2021 | AJL | Prepare and forward multiple correspondence with Board Presiden | 0.50 hrs | 310 /hr | \$155.00 |
| 08/23/2021 | AJL | Correspond with Board President | 0.20 hrs | 310 /hr | \$62.00 |
| 08/24/2021 | AJL | Correspond with Board President | 0.20 hrs | 310 /hr | \$62.00 |
| 08/25/2021 | AJL | Phone conference with Board President | 0.30 hrs | 310 /hr | \$93.00 |
| 08/25/2021 | AJL | Review correspond with Board | 0.80 hrs | 310 /hr | \$248.00 |

page 9

08/06/2021 KBP Review and phone 1.30 hrs 310 /hr \$403.00 conference with Superintendent; strategize with Attorney Nguyen re:

Hinsdale 86

page 10

08/09/2021 KBP

Email Superintendent

0.10 hrs

310 /hr

\$31.00

08/11/2021 JSL

Continue to review

0.40 hrs

310 /hr

\$124.00

review

re: same; prepare and

forward email to Prentiss re: same

08/16/2021 JSL

Review email from Prentiss

0.80 hrs

310 /hr

\$248.00

revise

prepare and forward email to Prentiss re:

same

page 11

| 08/18/2021 | KBP | Review email f phone conference with Superintendent; | 0.60 hrs | 310 /hr | \$186.00 |
|------------|-----|--|----------|---------|----------|
| 08/18/2021 | KA | Consult with Attorney Rosenberg, Attorney Brickman, and Attorney Goelitz re: correspond with Superintendent re: same | 0.20 hrs | 270 /hr | \$54.00 |

i

page 13

08/31/2021 HKB

Hinsdale 86

Consult with Attorney Atlas re: revise same: review

email to

1.50 hrs

310 /hr

\$465.00

Superintendent

Eisenhammer Rodick & Kohn

3030 SALT CREEK LANE SUITE 202

RE:

STUDENTS

ARLINGTON HEIGHTS, ILLINOIS 60005

Deb all
Josh
Brad W
Chery I DELEPHONE: (847) 670-9000
FACSIMILE: (847) 670-7334
FEIN: 36-3698066
www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> September 30, 2021 Invoice #: 53107

REMITTANCE COPY

| RE: | RETAINER Retainer services include review of Board minutes and agenda documents, response to routine legal inquiries and updates on current legal developments. | |
|-----|---|------------|
| | TOTAL SERVICES FOR THIS MATTER | \$250.00 |
| RE: | BOARD GOVERNANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$2,015.00 |
| | TOTAL EXPENSES FOR THIS MATTER | \$180.00 |
| RE: | AUDIT LETTERS | |
| | TOTAL SERVICES FOR THIS MATTER | \$166.00 |
| RE: | BOARD POLICIES | |
| | TOTAL SERVICES FOR THIS MATTER | \$2,269.00 |
| RE: | FOIA-OMA | |
| | TOTAL SERVICES FOR THIS MATTER | \$2,755.00 |
| RE: | FINANCE | |
| | TOTAL SERVICES FOR THIS MATTER | \$620.00 |
| | A A Company | |

HODGES LOIZZI Eisenhammer Rodick & Kohn

Hinsdale 86

| Hinsdale 8 | 86 | | page 2 |
|------------|-----------------------------------|-----------|-------------|
| | TOTAL SERVICES FOR THIS MATTER | | \$3,898.00 |
| DE DE | CARTENICAL | | |
| RE: RE | SIDENCY | | |
| 7 | TOTAL SERVICES FOR THIS MATTER | | \$1,279.00 |
| | | | |
| RE: PEI | RSONNEL | | |
| 7 | TOTAL SERVICES FOR THIS MATTER | | \$2,441.00 |
| | | | |
| RE: CO | NTRACTS | | |
| Т | TOTAL SERVICES FOR THIS MATTER | | \$6,045.00 |
| | | | |
| BILLING | SUMMARY | | |
| F | OR PROFESSIONAL SERVICES RENDERED | 80.90 hrs | \$21,738.00 |
| Т | TOTAL COSTS | | \$180.00 |
| A | ADMINISTRATIVE EXPENSES | | \$1,304.28 |
| Т | TOTAL AMOUNT OF THIS BILL | = | \$23,222.28 |
| P | REVIOUS BALANCE | | \$67,401.16 |
| T | OTAL PAYMENTS | ~ | \$12,299.71 |
| В | SALANCE DUE | DP - | \$78,323.73 |
| | | | |
| | | 11/2/2081 | |

Eisenhammer Rodick & Kohn -

3030 SALT CREEK LANE SUITE 202

ARLINGTON HEIGHTS, ILLINOIS 60005

TELEPHONE: (847) 670-9000 FACSIMILE: (847) 670-7334

> FEIN: 36-3698066 www.hlerk.com

Hinsdale Township High School District No. 86 Office of the Superintendent 5500 S. Grant Street Hinsdale, IL 60521

> September 30, 2021 Invoice # 53107

| 09/01/2021 | HKB | Email to Superintendent | 0.10 hrs | 310 /hr | \$0.00 |
|------------|-----|---|----------|---------|--------|
| 09/01/2021 | SMR | Board President re: consult with Attorney Loizzi re: same | 0.10 hrs | 310 /hr | \$0.00 |
| 09/03/2021 | AJL | Correspond with Superintendent and Board president | 0.10 hrs | 310 /hr | \$0.00 |
| 09/07/2021 | AJL | Correspond with Board president | 0.10 hrs | 310 /hr | \$0.00 |
| 09/07/2021 | AJL | Correspond with Board president | 0.10 hrs | 310 /hr | \$0.00 |
| 09/07/2021 | SMR | Phone conference with Board President | 0.60 hrs | 310 /hr | \$0.00 |



HODGES LOIZZI Eisenhammer Rodick & Kohn Hinsdale 86

| 09/16/2021 | SMR | Phone conference with Board President | 0.20 hrs | 310 /hr | \$0.00 |
|------------|-----|---|----------|---------|--------|
| 09/17/2021 | AJL | Correspond with Superintendent | 0.10 hrs | 310 /hr | \$0.00 |
| 09/21/2021 | SMR | Phone conference with Board President and review multiple correspondences | 0.40 hrs | 310 /hr | \$0.00 |

HODGES LOIZZI Eisenhammer Rodick & Kohn

Hinsdale 86

| 09/02/2021 | SMR | Phone conference with Superintendent and draft and send to Superintendent | 0.40 hrs | 310 /hr | \$124.00 |
|------------|-----|---|----------|---------|----------|
| 09/14/2021 | AJL | Review correspondence from Superintendent phone conference with Walker re: same | 0.70 hrs | 310 /hr | \$217.00 |
| 09/16/2021 | SMR | Phone conference with President | 0.60 hrs | 310 /hr | \$186.00 |
| 09/29/2021 | НКВ | Review draft email o Superintendent | 2.50 hrs | 310 /hr | \$775.00 |
| 09/29/2021 | НКВ | Phone conference with Board President and Superintendent | 1.00 hrs | 310 /hr | \$310.00 |

09/28/2021 HKB Review emails from Board President 0.50 hrs 310 /hr \$155.00 reply re: same; review

FOIA-OMA

| 09/02/2021 | SMR | Phone conference with Board President and draft and send president to Board President | 0.70 hrs | 310 /hr | \$217.00 |
|------------|-----|--|----------|---------|----------|
| 09/03/2021 | SMR | Phone conferences with Board President a consult with Attorney T. Loizzi re: draft, revise, finalize and send opinion to Board | 1.70 hrs | 310 /hr | \$527.00 |
| | | President i | | | |

Eisenhammer Rodick & Kohn

Hinsdale 86

page 5

| _ | |
|---|---|
| | - |
| | |
| | |
| | |
| | • |
| | |

| 09/24/2021 | SMR | Review Giuliani FOIA requests; phone conference with re: Giuliani FOIA's; consult with Attorney Schneider re: Giuliani FOIA (correspondence on Saxman contract); review and email resident re: | 1.10 hrs | 310 /hr | \$341.00 |
|------------|------------|--|----------------------|--------------------|---------------------|
| 09/24/2021 | DMS | Consult with Attorney Richart re: Giuliani FOIA | 0.10 hrs | 280 /hr | \$28.00 |
| 09/27/2021 | DMS SMR | Review FOIA request re: Guiliani FOIA; draft re: same Exchange emails with and consult with Attorney Schneider re: Giuliani FOIA and | 0.50 hrs 0.10 hrs | 280 /hr 310 /hr | \$140.00 \$31.00 |
| 00/00/003 | DMC | | | | |
| 09/29/2021 | DMS | Consult with Attorney Richart re: Giuliani FOIA | 0.10 hrs | 280 /hr | \$28.00 |
| 09/30/2021 | SMR | Consult with Attorney Schneider, phone conference with and review, revise and finalize and transmittal correspondence re: (Giuliani FOIA) | 0.60 hrs | 310 /hr | \$186.00 |
| 09/30/2021 | DMS | Draft i re: Giulianni FOIA; consult with Attorney Richart re: same | 0.80 hrs | 280 /hr | \$224.00 J |

page 7

09/21/2021 BB Prepare for and attend videoconference with Superintendent

confer

1.20 hrs 310 /hr

with Attorney Rosenberg re: same; continue legal

research re:

HODGES LOIZZI Eisenhammer Rodick & Kohn

Hinsdale 86

| 09/02/2021 | НКВ | Prepare forward to Superintendent | 0.40 hrs | 310 /hr | \$124.00 |
|------------|-----|---|----------|---------|----------|
| 09/02/2021 | JSL | Review email from Prentiss review re: same; prepare and forward email to Prentiss re: same | 0.60 hrs | 310 /hr | \$186.00 |
| 09/03/2021 | KBP | Continue reviewing and revising hone conference with Superintendent re: same | 0.90 hrs | 310 /hr | \$279.00 |

Eisenhammer Rodick & Kohn —

| Hinsdale 86 | | | | | page 10 | |
|-------------|-----|--|----------|---------|----------|---|
| 09/13/2021 | НКВ | Draft forward to Superintendent | 2.40 hrs | 310 /hr | \$744.00 | |
| 09/13/2021 | НКВ | Emails with Superintendent | 0.20 hrs | 310 /hr | \$62.00 | |
| 09/13/2021 | AJL | Confer with Attorney Pipal re: correspond with Superintendent re: same; review/revise | 0.70 hrs | 310 /hr | \$217.00 | |
| 09/13/2021 | AJL | Phone conference with Superintendent confer with Attorney Richart re: same | 0.50 hrs | 310 /hr | \$155.00 | |
| 09/13/2021 | KBP | Strategize with Attorney T. Loizzi and draft finalize and send to Superintendent | 0.90 hrs | 310 /hr | \$279.00 | V |
| 09/14/2021 | KBP | Email with Superintendent and draft | 0.30 hrs | 310 /hr | \$93.00 | / |
| 09/15/2021 | KBP | Email Superintendent | 0.20 hrs | 310 /hr | \$62.00 | |
| | | | | | | |